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Name:

Shopping Problems with Tax
Shopping Math

shirt = $16.30
pair of socks = $11.85
sweater = $21.25
belt = $8.60
jacket = $32.00

pair of pants = $30.50
t-shirt = $6.80
hoodie = $30.70
sweat shirt = $22.85
coat = $49.30

1. What is the total cost of a shirt, a sweater, and a coat if the sales tax is seven  
percent?

2. If Carol wanted to buy a pair of pants, how much money would she need if the  
sales tax was seven percent?

3. Steve purchases a pair of socks. How much would it cost him if he also had to  
pay a 7% sales tax?

4. Jake purchases a hoodie. How much would he have to pay if there was a 7%  
sales tax?

5. If Ryan wanted to buy a sweat shirt, how much would he have to pay if there  
was a seven percent sales tax?

6. What is the total cost of a sweat shirt if there is a 7% sales tax?

7. If Asha wanted to buy a sweat shirt, a pair of pants, and a jacket, how much  
money would she need if the sales tax was seven percent?

8. Paul purchases a t-shirt, a coat, and a jacket. How much money would he need  
if the sales tax was 7%?
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Shopping Problems with Tax
Shopping Math

shirt = $16.30
pair of socks = $11.85
sweater = $21.25
belt = $8.60
jacket = $32.00

pair of pants = $30.50
t-shirt = $6.80
hoodie = $30.70
sweat shirt = $22.85
coat = $49.30

1. $92.93 What is the total cost of a shirt, a sweater, and a coat if the sales tax is seven  
percent?

2. $32.64 If Carol wanted to buy a pair of pants, how much money would she need if the  
sales tax was seven percent?

3. $12.68 Steve purchases a pair of socks. How much would it cost him if he also had to  
pay a 7% sales tax?

4. $32.85 Jake purchases a hoodie. How much would he have to pay if there was a 7%  
sales tax?

5. $24.45 If Ryan wanted to buy a sweat shirt, how much would he have to pay if there  
was a seven percent sales tax?

6. $24.45 What is the total cost of a sweat shirt if there is a 7% sales tax?

7. $91.32 If Asha wanted to buy a sweat shirt, a pair of pants, and a jacket, how much  
money would she need if the sales tax was seven percent?

8. $94.27 Paul purchases a t-shirt, a coat, and a jacket. How much money would he need  
if the sales tax was 7%?


